
10-1

Di
re

ct
io

na
l C

on
tr

ol
 V

al
ve

s

F
Functional Symbol

（Ｆ３）-ＵＲＭＣ-０３-１０-Ｓ１
Model Code Specifications

•	Used with relief valve to prevent reverse flow at pump start up.

Characteristics Curve (at 20 mm2/s) (typical examples)

Pressure Drop Characteristics

1 Hydraulic fluid

Omit: mineral oil based fluid, water-glycol based fluid

F3: phosphate ester

2 Check valve modules (for relief valves)

3 Size

Refer to “Specifications”.

4 Design no.

10: URMC-03, 10

11: URMC-06

5 Cracking pressure

Refer to “Specifications”.

1 32 4 5

Note: URMC-10-10-S1 cracking pressure is 0.05 MPa.

ＴＰＡ Ｙ

形　式
大きさ
の呼び

最　　高
使用圧力

MPa

定格流量
L/min

質量
kg

URMC-03 03  40 3.1

URMC-06 06 100 5.9

URMC-10 10 250 11

21

Model Code Size Rated Flow  
L/min

Weight 
kg

Max. Working 
Pressure  

MPa

０８

０６

０４

０２

．

．

．

．
．０２

．０４

．０６

．０８

．１０ ．０８

．０６

．０４

．０２

流量 ／Ｌ ｍｉｎ 流量 ／Ｌ ｍｉｎ 流量 ／Ｌ ｍｉｎ

Ｍ ａＰ

圧
力
降
下

Ｍ ａＰ

圧
力
降
下

Ｍ ａＰ

圧
力
降
下

ＵＲＭＣ－１０－Ｓ２

ＵＲＭＣ－１０－Ｓ３

ＵＲＭＣ－０６－Ｓ３

ＵＲＭＣ－０６－Ｓ２

ＵＲ
ＭＣ

－０
３－

Ｓ１

ＵＲＭＣ－１０－Ｓ１ＵＲ
ＭＣ

－０
６－

Ｓ１

ＵＲＭＣ－０３－Ｓ３

ＵＲＭＣ－０３－Ｓ２

８０６００ ２０ ４０ ４００３０００ １００ ２００２００１５００ ５０ １００ ２５０

ＵＲＭＣ－０３ ＵＲＭＣ－１０ＵＲＭＣ－０６

Pr
es

su
re

 D
ro

p 
  M

Pa

Pr
es

su
re

 D
ro

p 
  M

Pa

Pr
es

su
re

 D
ro

p 
  M

Pa

Flow   L/min Flow   L/min Flow   L/min

S1(注) S2 S3 S4

クラッキング
圧       力

MPa 0.035 0.35 0.53 0.88

記　　号Code (Note)

Cracking Pressure  
MPa

Check valve modules (for relief valves) 
URMC



F
10-2

Di
re

ct
io

na
l C

on
tr

ol
 V

al
ve

s

Notes on Operation

•	Vent port of relief valve cannot be interfaced with gasket 
surface. If remote control or multistage pressure setting is 
required, use piping connection or solenoid multistage relief 
valve, TCG50-80 series.

•	Mounting bolts must be ordered separately.
•	Mounting bolt tightening torque

URMC-03: 72～88 N·m
URMC-06: 90～110 N·m
URMC-10

M16, 5/8-11UNC: 90～110 N·m
M20, 3/4-10UNC: 180～220 N·m

Subplate

•	No subplate is available. Mount on manifold block.

Dimensions

Mounting Bolts (JIS B 1176, Strength Class 12.9)

Ｔ Ｐ Ａ
Ｙ

１３

８０

１２５．

１０７

●Mounting dimensions

０

０

５４

２７

１３２８８２
７５

６．

５０
２ ．

１４２．

３－φ１４ φ４

３３

４６

８２

１２５

５４

URMC-03

１０７

φ４
２

６４

．１３１５

６
４

．

３１.８

１２５．

．

８０
２

１３
５４

２７

１４
２．

ø7.1, 7.9 deep

T port ø14

4-ø13.5 hole

ø6.4 locating pin

P port ø14

A port

Y port (drain) ø4

ø7.1, 8 deep

6-M12, 25 deep or 
1/2-13UNC, 28 deep

2-ø13.5 hole, 
ø19.8 counterbore depth

Ｙ

ＵＲＭＣ

Ａ Ｐ Ｔ

（例 ＴＣＧ５０）(Example TCG50)

メ－トルねじ ユニファイねじ

    M12×55         1/2-13UNC×57.1 2

    M12×130         1/2-13UNC×127 4

    M12×55         1/2-13UNC×57.1 2

    M12×100         1/2-13UNC×101.6 4

    M16×60         5/8-11UNC×63.5 2

    M16×140         5/8-11UNC×139.7 4

    M16×75         5/8-11UNC×76.2 2

    M20×170　         3/4-10UNC×165.1 4
    TCG20-10
    TCG50～TCG80-10

URMC-10

URMC-06

    CG-03-15

弁形式

URMC-03

    TCG20-06
    TCG50～TCG80-06

本数
六角穴付きボルト集積する

リリ－フ弁

    TCG20-03
    TCG50～TCG80-03

Valve Model QtyStacked Relief Valves
Hex Socket Bolts

Metric Thread Unified Thread



10-3

Di
re

ct
io

na
l C

on
tr

ol
 V

al
ve

s

F

Dimensions

１６７
１０

２

１４５

URMC-06

９０５．

５５６．

３３４．

．

．

６６７．

１１２７．
５

９

３４
９． ６９

８．
．

３４
８． ５０

８．
．

１１１

１６２

１６
１

．

２

６
４

●Mounting dimensions

１４５

１０
２ ＡＴ Ｐ

Ｙ
０

０４６

１６１

１６
１

６９８．

３４９．

５９．

１１
２

７
１０

１
６

７９
３

５７
１

２２
２

１２
７． ． ． ． ．．

３－φ２２ ．

φ６

．

A port

Y port (drain) ø6

2-ø6.4 locating pin

P port ø22.2

ø7.9, 8 deep

T port ø22.2

4-ø16.7 hole

2-ø7.1, 8 deep

2-ø16.7 hole, 
ø25.4 counterbore depth

6-M16, 35 deep or 
5/8-11UNC, 34 deep

１７８

２１８

１２
０

URMC-10

１２０７．

７６２．

４４４．

．

１９１

８８９．

１４１４．

２

６
３

４１
３． ８２

６．
．

４７
５ ． ６６

６ ．
．

１２７

１８
７

．

．

６
４

●Mounting dimensions

１２
０

１７８

０

０９７

Ｙ

Ｔ ＡＰ
．

４１３

６３

１２
８

７

６５
２

５２
５

２０
７

１４
４．

１７５

．

．

８２６

１８
７

． ．．
１４

１
４ ．．

３－φ２８
．

φ６

．

T port ø28.6

4-ø21 hole

ø7.9, 7.9 deep

Y port (drain) ø6

2-ø6.4 locating pin

A port

P port ø28.6 2-ø7.1, 8 deep
2-ø18 hole, 
ø25.4 counterbore depth

2-M16, 30 deep or 
5/8-11UNC, 31 deep

4-M20, 34 deep or 
3/4-10UNC, 29 deep



F
10-4

Di
re

ct
io

na
l C

on
tr

ol
 V

al
ve

s

URMC-03

URMC-06

URMC-10

URMC-03
O-ring

URMC-06

URMC-10

URMC-10
Backup ring

Construction

※⑧ボディに圧入

ＵＲＭＣ－１０

ＵＲＭＣ－０３／０６

１
２

４

５

６

７

８

９

１０

１１

１２

１－３

２－３

記号 部品番号

S1         VP2978

S2        VP35298

S3        VP55233

S4       VP112407

記号 部品番号

S1         VP2943

S2        VP25896

S3        VP32999

S4        VP84235

記号 部品番号

S1        VP2284      

S3 40022109      

S4 40014039      

照号 部品番号 規　　格 個数

 3 007991019 AS568-910(NBR,Hs90) 1

 9 007901119 AS568-011(NBR,Hs90) 1

10 007911519 AS568-115(NBR,Hs90) 3

照号 部品番号 規　　格 個数

 3 007991619 AS568-916(NBR,Hs90) 1

 9 007911119 AS568-111(NBR,Hs90) 1

10 007921619 AS568-216(NBR,Hs90) 3

照号 部品番号 規　　格 個数

 3 007922017 AS568-220(NBR,Hs70) 1

 9 007901219 AS568-012(NBR,Hs90) 1

10 007922019 AS568-220(NBR,Hs90) 3

 5  Spring

* Inserted in  8  body

No. Part No. Standard Qty 照号 部品番号 規　　格 個数

2 48197637 MS28774-220 1

No. Part No. Standard Qty

No. Part No. Standard Qty

No. Part No. Standard Qty

Code Part No.

Code Part No.

Code Part No.


